Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name : GOVT. GRADUATE COLLEGE TOKAPAL

Academic Year: 2016 - 17



State - Government of Crihattiagam

Sanction Number: N/6/5540/3/10/76452

Sanction Date : 25/01/2017

Applic

cations	Type:	Fresh

plication ID Student Nam	e Gender	Course	Туре	No. of Month	Rate	Maintenence Tuiti	on Fee Ot	her Fce T	otal Fee Tota	l Amount
534961 sonmati yadav	Female	B. Com./Commerce/I	Fresh	9	70	630	0	684	684	1314
708317 KISHOR THAKUR	Male	B. Sc./Science/I	Fresh	10	55	550	0	704	704	1254
1253212 BALDEV SETHIYA	Male	B. Sc./Science/I	Fresh	10	55	550	0	704	704	1254
1260368 SARITA SETHI	Female	B. A./Arts/I	Fresh	9	70	630	0	684	684	1314
1282927 GANESH RAM YADAV	Male	B. Com./Commerce/I	Fresh	10	55	550	0	684	684	1234
					Total:	2910	0	3460	3460	6370

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

(Signature & Seal brackd of the Institution)

Page 1/1

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name : GOVT. GRADUATE COLLEGE TOKAPAL

Academic Year: 2016 - 17



Government of Christoscarh

Sanction Number

R/6/5540/3/10/76463

Sanction Date

25/01/2017

Applications Type Renewal

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee O	ther Fee	Total Fee Total	1 Amount
861707 AJAY KUMAR	Male	B. Sc./Science/III	Renewal	9	70	630	0	584	584	1714
1132547 HEMKARAN PANDE	Male	B. Sc./Science/II	Renewal	9	70	630	0	584	584	1214
1155809 KISHAN KUMAR YADAV	Male	B. Sc./Science/II	Renewal	9	70	630	0	584	584	1214
1275075 KUNTI YADAV	Female	B. Sc./Science/III	Renewal	9	85	765		584	584	1349
					Total:	2655	0	2336	2336	4991

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected.

Place:

Date:

4.22 - 4.32 (Signature) & Seal of Head of the Institution) Name (Capital Leters) DKapal

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : GOVT, GRADUATE COLLEGE TOKAPAL

Academic Year: 2016 - 17



Government of Chinatespuris

Sanction Number: N/6/5540/2/7/76421

Sanction Date: 25/01/2017

Applications Type Fresh

plication ID Student Name	Gender	Course		I DODANIA DE LA COLONIA DE	TINDESCRIPTION I	DE ANTONIO DE LA CONTRACTOR DE LA CONTRA	Applications			
		Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
293851 SAMDEV KASHYAP	Male	B. A./Arts/I	Fresh	10	300	3000	0	684		
308701 Damru Ram Mourya	Male	B. A./Arts/I	Fresh	9	300	2700	0	684	684	
708321 AMALSAY BAGHEL	Male	B. A./Arts/I	Fresh	8	300	2400	0	584	564	
708325 RAJU KASHYAP	Male	B. A./Arts/I	Fresh	9	300	2700			684	
828663 SHOBHASINGH NOSURNA		B. Sc./Science/I	Fresh	10	300	3000	0	684 704	684	
846401 VIRENDRA KUMAR KASHYA	P Male	B. Sc./Science/I	Fresh	10	300	3000	- 0			
948111 SUKHDAS KARMA	Male	B. A./Arts/I	Fresh	9	300	2700	0	704		
956970 KALA MAURYA	Female	B. A./Arts/I	Fresh	10	300	3000		684		
1010620 SANJOO BAGHEL	Female	B. Sc./Science/I	Fresh	9	300		u e	684		
1047353 AASMATT BAGHEL	Female	B. A./Arts/I	Fresh	10	300	2700	0	704		
1047362 SHANTI BAGHEL	Female	B. A./Arts/I	Fresh	10	300	3000				
1061600 JAGBANDHU MOURYA	Male	B. Sc./Science/I	Fresh	10	300	3000	0	500.0		
1234205 CHUNESHWARI NAGESH	Female	B. A./Arts/I	Fresh	9		3000	. 0	704		4
1234258 KAMALBATEE MOURYA	Female	B. A./Arts/I	Fresh	9	300	2700		3.0		34
1234311 RAMA BHARTI	Female	B. Sc./Science/I	Fresh	703	300	2700		684	4 6	34
235771 MAHESHWAR MANJHI	Male	B. A./Arts/I		9	300	2700		704	4 7	04
254105 KAMLOO RAM KASHYAP	The same of the sa		Fresh	10	300	3000		68	4 6	84
71.003 (91.195)	riale	B. A./Arts/I	Fresh	10	300	3000		68	4 6	84

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

(Signatura & Seal Grige Book the Institution) Bowt Cotton Bridge Bokapal

Bastar (C.G)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name GOVT, GRADUATE COLLEGE TOKAPAL

Academic Year : 2016 - 17

Government of Chinathapach

Sanction Number

N/6/5540/2/7/76421

Sanction Date

25/01/2017

Applications Type

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Olher Fee	Total Fee	Total Amount
1261226	SUKHRAM NAG	Male	B. Sc./Science/I	Fresh	10	300	3000	0	704	704	3704
1266582	JHIMLO POYAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	684	584	36254
1281748	DINESH KUMAR KASHYAP	Male	B. A./Arts/I	Fresh	10	300	3000	0	.604	684	16/14
1286995	RAJKUMAR Mourya	Male	B. A./Arts/I	Fresh	9	300	2700	.0	684	604	3.3164
1297137	IDANBATI KUNWAR	Female	B. Sc./Science/I	Fresh	10	300	3000	.0	704	704	9704
1310781 5	SUKRU BAGHEL	Male	B. Sc./Science/I	Fresh	10	300	3000	0	704	704	3704
1047344 5	OUBAY NAG	Female	B. A./Arts/I	Fresh	10	300	3000	0	684	G114	1684
B71824 se	onadai Baghel	Female	B. Sc./Science/I	Fresh	9	300	2700	0	704	704	3404
871785 n	eela kashyap	Female	B. Sc./Science/I	Fresh	10	300	3990	.0	704	704	3,704
	AMESH KUMAR KASHYAP	Male	D. A./Arts/J	Fresh	9	300	2700	- 0	684	604	
	AMRU KASHYAP	Male	D. A./Arts/I	Fresh	9	300	2700	0	684	504	
	INITA KASHYAP	Female	B. Sc./Science/I	Fresh	9	300	2700	0	704	704	
	ETAMANI MOURYA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	704	704	
	NISHA MOURYA		II. A./Arts/I	Fresh	9	300	2700	0	684	CD	4 330
333072 1970	High though	4 4441100				Total :	88500	0	21444	2144	4 10004

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. GRADUATE COLLEGE TOKAPAL

Academic Year: 2016 - 17

State:

Government of Christisgarb

Sanction Number

R/6/5540/2/7/76438

Sanction Date

25/01/2017

Applications Type Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
159896	PARAS RAM	Male	B. Sc./Science/III	Renewal	9	300	2700	0	584	584	3284
262724	Man Singh Mourya	Male	B. Sc./Science/III	Renewal	9	300	2700	0	584	584	3284
307743	Suku Ram Kashyap	Male	B. A./Arts/II	Renewal	9	300	2700	0	564	564	3264
309062	Ankita Nagesh	Female	B. Sc./Science/III	Renewal	9	300	2700	0	704	704	3404
428643	Shiv Ram	Male	B. Sc./Science/III	Renewal	9	300	2700	0	584	584	3284
569350	SONAMANI KASHYAP	Female	B. A./Arts/II	Renewal	9	300	2700	0	564	564	3254
579718	MOTU RAM KUNJAM	Male	B. Sc./Science/II	Renewal	9	300	2700	0	584	584	3284
629842	HIRALAL NAG	Male	B. A./Arts/III	Renewal	9	300	2700	0	564	564	3264
708351	LOKESH MAURYA	Male	B. Sc./Science/II	Renewal	9	300	2700	0	584	584	3284
710404	DISAN KUMAR NO SURNAME	Male	B. Sc./Science/II	Renewal	9	300	2700	0	584	584	328
710929	LAXMAN MAURYA	Male	B. Com./Commerce/II	Renewal	9	300	2700	0	564	564	326
714683	MANIRAM PODHYAMI	Male	B. Sc./Science/III	Renewal	9	300	2700	0	584	584	328
768901	PHAGNU RAM KAWASI	Male	B. Com./Commerce/III	Renewal	9	300	2700	0	564	564	326
867585	BUTAKI PODIYAMI	Female	B. A./Arts/III	Renewal	9	300	2700	0	564	554	326
873722	PRAMOD KUMAR	Male	B. Sc./Science/II	Renewal	9	300	2700	0	584	58-	4 328
890963 F	PRABHU RAM	Male	B. A./Arts/III	Renewal	9	300	2700	0	564	56	4 326
1103140 E	BHANUPRIYA KATCH	Female	B. Sc./Science/II	Renewal	9	300	2700	0	584	58	4 328

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. 4-12-150

Place:

Date :

(Signature & Seal of Head of the Institution) Name (capitalledae) Tokapal

Government of Chhattisparh

Scholandip Schotte Instituto Namo Catogory GOVT, GRADUATH COLLEGE TOKAPAL

Post Matrio 8T Scholarship Applications Type Charling Manhor Sandhard Date DIONE. 100000000 28/01/2017 Reaction of the same Cassymatowest of Chirochest

pplication ID Student Name	Gender	Course	Type	No. of Month	100 KG	OWORKED 1914	0	564	75.
AKRIUOM MARITITINA SOCIALI	Nale	II. A./AIII/II	Renewal	0	100	2700	0.0	164	5.04
THESE INTENTIONS	Naio	II. A./Arts/II	Renewal	c	000	2700	5 4	-	7.44
THE PRINCIPAL NASHYAP	Male	II. Sc./Science/III	Renewal	c	300	2700	5 6	100	0.000
	Founda	II/AIA/A II	Renewal	9	300	2700	3		
HOLLS WILLY WELLS					100	2700	0	2002	(0000)
TEROTES BAPIESH KUPIAK	Male	B. A/ARVII	Renewal	4	9	2000	5	4,64	564
TANKS THAN SALVAD	Lemale	II. A./A(S/II	Renewal	٠	300	2,000		6363	5,114
150 July 20. Control of the		n se /selence/II	Renewal	0	300	2/00			
1292380 GOVARDHAN MOURA	Diela	the fact the second of the			11111	00%	0	5416	4.0%
Total Control Carleson	Male	B. Sc/Science/III	Renewal	9	,000	* 100		1.7.4	,
200337 Stittori emeripali		11 / / / / / / / / / / / / / / / / / /	Renewal	9	300	2700	-	100	
TANK TANK TANK		(株式) 「株式 (株式) 「 (株式) 」」							

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected to candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as toltion and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

(Signature Parin dipolated of the Institution)